FIELD REPLACEABLE UNIT DOCUMENTATION

Satellite”

2060CDS/2100Series

BATTERY PACK REMOVAL OPTIONAL PCMCIA CARD REMOVAL

1. Tum the computer upsids down as sh
2" Sl the bateny reease leve i he diection o the

PC éard Eject button

1.Pull ot the eject button of the PC cardto be removed
2

itout

KEYBOARD REMOVAL

Keyboard holder

1. Openthe display panel.

3 _KEYBOARD REMOVAL

Keyboard métalbrace  M2xd brass sciew

3. Remove one M2xd brass screw and If ot the

keyboard

TOSHIBA

Tough Enoagh for Todava Weid,



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

2060CDS/2100Series

KEYBOARD REMOVAL

Keyboardtop

Patt

Keyboard cable

Keyboard

112,503 black screw

EXPANSION MEMORY REMOVAL
- 1123 black
Hemory

Hemory
madie

Memory dips

U paim rest cover
B carefl not o apply pressure on the keyboard cable.

5. Remove one M2.5x6 black screwand i out the

1 pside down
2 Remove two MEx3 biack screwe and remove the.
memory cover.

& Discomctthe keyboard cable fom P11 on e
sysem board and femove the keyboar

HDD REMOVAL

HDD siot cover

1. Tumthe computer upside down.
2! Remove one N2.5xb black screw securing HDD
cover and pull ut the cover

v
madule out of the connector on a 45 degree angle.

HOD

25
bladk

HDD bradiet handie

3. Remove oneM2.5xd black serew sectring the HOD.
3. Grasp the HDD bracket handie and pul to disconnect
the HDD.

TOSHIBA

Tomgh Exomiih for Toduya World.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

2060CDS/2100Series

MODEM REMOVAL TOP COVER REMOVAL
112,566 black screvs

Modem cable W23 siverscrews 12 brass sarew.

1 Remove two MBS sier srews and one W26 brass —_—
curing the modem board MDABBIACI STEW 11 55 ack screv:
2.t ap the right ke o he mevdem board ad remove t
fom the sysgem board. 1. Tumthe computer upside down and remove the.

board.  follwi
<N Ex20 ik serove

ck screws (one fomHDD slot cover)

o black screws from battery siot and back

TOP COVER REMOVAL

S Bere bkescrew

M25xd black  Membrane P10
srew switch cable
2. Tumthe computer right sice p andopenthe,

Display assembly

5.Liftupthe back and left side of the top cover sbout
e cease he et eichon e font (arow and 2
ush the i a1 o cst e vlume contol

P
6. Retat i top cove and display assembly orverd
_Right speaker cable flom PJ304 1o releass the righ atch.

TOSHIBA

Tough Enoagh for Todaya Werld,



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

2060CDS/2100Series

HDD_AND BATTERY BOARD REMOVAL

FDD REMOVAL

HDDattery board  PJ754  Sensorcable.
1. Disconnect the following cables fom the
HDD bt
“HDD cable from P.75(
“Battery power line cable from PJ753
Sensor cable fromPJ754
move one M2.5x6 brass scrow.
3.Lit up the HDD atesy board.

rews s=cuiing the FOD
4 et e FOD feble cabl fom the FOD
CD-ROM DRIVE REMOVAL

m
PUDI W25 brass suew comnector

[

1
the system board. CD-ROM comnector assembly.
2

drive. brace fom the CD-ROI ciive.
3. Side out the CD-ROM drive, & Discomncthe CD ROM flxible cable fom PJTG0

7. Removs two M2x3.

TOSHIBA

Tosgh Esough for Todavs World.

Serews securing the side brace




FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

2060CDS/2100Series

RTC AND BACKUP BATTERY REMOVAL

RTC battery

par0n

RTC battery cable

1. Openthe RTC battery cover.

2. Disconnect the RTC battety cable rom PJ702 on e
sound board,

3.Lif ot the RTC battery.

SYSTEM BOARD REMOVAL
112,56 brass screw

12,503 brass screws

Plsicsu  Saundcaie

| Pere ok g s

SENSOR AND SOUND BOARD REMOVAL

1125 brass screw.
1. Disconnect the sound cable fom P70 onthe.
2 Femore ons . brass serewsecung he
3.0t up the sound board.

PC card

System board  Baftery pover cable

5.Liftout the systemboard fiom the fort end and

3 Remove the foloving seven screws secuing the

& Diszomecthe filuingcables o the sisten b

2 M2.5%4 Tt head brass screws:
<325 brass srews

L ot e heae sk et temove e heataink by
Socket

Bty posce bl o P3501
" Sound cable from PJ302

TOSHIBA

Tongh Escngh for Todavs Werd.



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite”

2060CDS/2100Series

“MEMBRANE SWITCH REMOVAL SPEAKERS REMOVAL

% 12t brass.

Hembrane
swich

124 it had screvs:

1
membrane Swtch. cach s
2 Lit up the membrane switch 2 Remom e l-ve sscuing the speaker cales
andif outthe.

COOLING FAN REMOVAL

Cooling fan

1. Remove the tape covering PJ1 and the fan cable.
2. Disconnect thefan cable fom P on the system beard.
3. Remove two M2.4 silver serews securing he cooling fan
4 Take out the cooling fan rom the system boarc.

TOSHIBA

Tough Enoagh for Todava Weid,



FIELD REPLACEABLE UNIT DOCUMENTATION
Satellite"

2060CDS/2100Series

DISPLAY MASK P

Mad seals

1. Remove two mask seals at the boftom cormers ofthe.
cisplay assembly

2 Remove two M2.5x6 bra

3. Thers e 22 latehes sscuing e cisplay mask.

Lo cibie

FLINVERTER AND SCREEN REMOVAL

HY cable
256
brass

FLinverter
board

LD modle  FLinverter cable
1. Remove two M2.5x6 brass screw sscuring
FL inverter board
FL st board . o 5
to1¢1 then disconnect he FL inverter cable
Q1 and the HV cable flom CN2.

he LCD moduteand pry pen the ches sarthg fom e
op ixlahes to e v ot
andleftsides, ending wih e

LCD mocie.
s

gt to et

fihe LCD cover.

5. Disconnect he LCD cable fom the LCD module and
femovehe LCD fom the computer

TOSHIBA

Tongh Exoniih for Toduvs World.



